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Let's look at a practical example. Imagine a fellow student of yours is stopped by the police 
after a night out and has to take a breathalyzer test. The test detects alcohol consumption in 
99.9% of cases.

The test detects alcohol consumption in 99.9% of cases.

However, it also produces a positive result in 3% of cases, even though the person being 
tested hasn't consumed any alcohol.

We also know that 5% of the people tested have actually consumed alcohol:

The test is positive for your fellow student. What is the probability that they have actually 
consumed alcohol?
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